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Max.9800Nm(1000kg-m)

0 20
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TP60S

¢ 20 3.6x 2.0

VP X m
¢ 200 SUS VP @ 216 X m

VU X m

VP X m
¢ 250 SUS VP ¢ 267 X m

VU X m

VP © m
¢ 300 SUS VP ¢ 318 o m

VU @ m

VM o
¢ 350 SUS VM ¢ 370 o

VU o

VM @ m
¢ 400 SUS VM ¢ 420 o m

VU m
¢ 200 ¢ 318 X 2m
¢ 250 ¢ 360 o 1 2m
¢ 300 ¢ 414 @ m

¢ 400
JSWAS K-

JSWAS A-




N

)

@é

7))

\\§

07777 . . 7

=
NQ
A

&\-Q
R

mmm

___
--
2

////

////







orNIN e

o W I




= 3200




¢ 300 50.00 1
F=Fo+o0 S L
Fo=a Bc/2) 1
F KN)
Fo KN
a KN/
/ 2
1.300
a / 1200 1750 1500
/ 3 45 25
1 1 2
200 0.318 15 2000 480 646
250 0.360 0.337 15 2000 55 0.1525 | 1.2650 510 686
300 0.414 0.391 15 2000 57 0.1785 | 1.5400 628 843
350 0.470 0.447 15 2430 60 0.2050 | 1.8530 775 1040
400 0.526 0.503 15 2430 63 0.2315 | 2.2060 932 1255
450 0.584 0.561 15 2430 67 0.2585 | 2.6180 1128 1510
500 0.640 0.617 15 2430 70 0.2850 | 3.0110 1304 1765
600 0.760 0.731 25 2430 80 0.3400 | 4.1090 1746 2354
700 0.880 0.851 25 2430 90 0.3950 | 5.3640 2344 3158
Fo=a Bc/2) 1
= 1200 0414 / 2 * 3141
= 161506
F= Fo + o S L
= 161506 + 3 1.300 50
= 357
628 357




© 300 100.00
+
21 24
75
670
10
25 x
125 /m 198 25
50 100
T
© 200 15 23 30
© 250 18 27 36
© 300 21 32 42
© 350 24 36 48
© 400 27 41 54
© 200 21 32 42
© 250 24 36 48
© 300 27 41 54
© 300 x
27 x  100.00 2700.0
41 x  100.00 4100.0
54 x_100.00 5400.0
200 25 + 198
272%%0 x 25 33.750
51.250
67.50
25
33.750 51.250 67.50
135 205 27.0
14 21 27
10 (25kox 4
I 4 [ 6 7




7-3

U= / x (30-Poo7s)x a x B

U i /m
Poo7s  0.075mm.
a
a 300 / [/
300 400 /
250 350 /
50 /
700 /
B Uc
Uc 4 B 10
4>Uc 3 B 105
3AUc 1 B 11
U= 1/3x (30- Poors x o x B
= 1/3x (30- 20 x 2 X 1.05
= 6.9930 (Kg/m )
Q= (30-Po.075)+(40-Po.25)+(50-P20) x 4/5x 1/100
Q : im
Poo7s  0.075mm.
Po.25 0.25mm. 40 4
P20 2.0mm. 50 5
= (30-Po.075)+(40-Po.25)+(50-P2.0) x 4/5% 1/100
= (30- Poors) + (40 - Pozs ) + (50- P20 )
= (30- 20 )+(40 - 40 )+ (50- 50
0.1
V=Sx Lx Qx y
Y m
S
L
Q im
% 15 20
V=S x Lx Qx y
0.18 X 100 x 01 x 16
2.304 (m)
G=Ux V
G
Uu: 1m Kg/m )
\Y (m )

G u x Vv
69930 x 2304
16.11 (Kg)

x 4/5% 1/100
x 0.8 x 0.01
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